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/ Second method: Break Even Analysis Method (BEP): | sl 4kii dla A4u) 43, k)

Cost Account MethodsT /

1. Introduction:

The cost is classified by variability to:

1.

Variable Costs: | dosall <allsiy 1

Variable Costs: are costs which do vary directly with the level of output or production.

Sometime are called direct costs. | 5dlumll cadlsily, Ula) oo z U ) cila Al o giwa o faladie] i A Cadlstl) a

Costs that change in total, directly in proportion to changes in the level of activities (volume).
The unit cost remains the same over a wide range of volume (referred to as the relevant range).
Relevant Range is the range of activity (production volume) within which variable unit costs are
constant and fixed costs are constant in total. In this range, the incremental cost of one
additional unit of production is the same.

Examples include direct materials, direct labor, and part of manufacturing overhead.
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%. Fixed Costs: | 4% cadsil) 2

- Fixed Costs: are costs which do not vary directly with the level of output or production.

Sometime are called indirect COStS. | & il & Cilsilly Ulai ady gUN) g cila Aal) (s glua i gadpdla paii Y i) 2

- Costs that do not change in total regardless of changes in activity.
- The unit cost decreases as volume increases.

- Examples include rent, taxes, and insurance on manufacturing plant.
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3. Semi-variable (Mixed) Costs | (2#3) Suial 4l s 3

- Costs that contain both variable and fixed costs. | 4t s i) Cadlsil) ¢a cpe o) MS ol Al &

- Examples include: light, heat, and power.
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/Breakeven Point: It is the relationship between-a-vari , fixed cos volume of
production (sales). No profit or loss at the breakeven point.
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Benefits of BEP:

1. Forecasting profit at any volume of sales.

2. Giving clear image about relationship between costs and sales per unit.
3. Help management to make decisions.

Breakeven Point (BEP) Methods:
1. Equation method: | aseads b 1

- Sales = Total Fixed Costs + Total VVariable Costs

.BEP = —

=3

Where F is a fixed cost, V is a variable cost and S is total sales.




Dollars |COST

160000
140000
120000~~~ ===
100000

L B I I I I N N N N ]

2000 4000 6000 8000 410000 412000 14000 16000 18000
Number of units |SALES




Ex1: e

EXL . = —-—-— I——
/ For the following data:

Fixed cost = 100,000 ID

Variable cost per unit = 300 ID

Selling price per unit =500 ID

1. Find number of unit (Units of Production) to verify BEP. Jsxil) 4k 3825 lgas caal o) clas gl) se 2a

2. Find BEP.  gsx dasi aa

3. Find number of selling units to obtain an operating profit of 1,000,000 ID.
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4. Find the operating profit at production and selling 2,000 units. sy cudll guy gl sie ghaiall m ) 2

Ans:
1. Operating profit = Sales - Total Fixed Costs - Total Variable Costs
Operating profit =0 at BEP
~. Sales = Total Fixed Costs + Total Variable Costs
500U =100,000 + 300U
500U - 300U =100,000
200U =100,000

100,000
U= ———

200 = 500 Units



e .
2. BEP= =220 _ 950,000 ID
1-3 1-%00

3. Operating profit = Sales - Total Fixed Costs - Total Variable Costs
1,000,000 = 500U —100,000—- 300U
1,100,000 =200U0
U = 5500 unit

4. Operating profit = Sales - Total Fixed Costs - Total Variable Costs
= 500U —-100,000 - 300U
= 200U - 100,000
= (200 X 2000) — 100,000
= 300,0001ID



Ex2:-Forthe followingdatar—————

— Fixed cost = 150,000 ID

Variable cost per unit =450 ID

Selling price per unit=650 ID
Find number of unit (Units of Production) to verify BEP.
Find BEP.
Find number of unit to obtain an operating profit of 3,000,000 ID.
Find the operating profit at production and selling 1,500 units.

B~ w e

Ans:
1. Operating profit = Sales - Total Fixed Costs - Total Variable Costs
Operating profit = 0 at BEP
~. Sales = Total Fixed Costs + Total Variable Costs
650 U = 150,000 + 450U
650U — 450 U = 150,000

200 U = 150,000
150,000
U="7-_——

200 = 750 Units
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:z — % — 487,500 ID
S 650

BEP =

Operating profit = Sales - Total Fixed Costs - Total Variable Costs
3,000,000 = 650U — 150,000 — 450U
3,150,000 = 200U
U = 15,750 unit

Operating profit = Sales - Total Fixed Costs - Total Variable Costs
= 650U — 150,000 — 450U
= (200 x 1500) — 150,000 = 150,000 /D



H.W: For the following data:
Fixed cost = 120,000 ID
Variable cost per unit = 350 ID
Selling price per unit=550 ID
1. Find number of unit (Units of Production) to verify BEP.
2. Find BEP.
3. Find number of unit to obtain on operating profit of 2,000,000 ID.

4. Calculate the operating profit at production and selling 1,000 units.
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2. Chart method: | Lkswds b

/%: For the following data:

Fixed cost = 40,000 ID

Variable cost = 20,000 ID

Sales =100,000 ID

Calculate BEP by using chart method.

ANS:

COST

60,000 ID

40,000 ID
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g cost
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BEP
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, Fixed Cost
1
1
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100,000 ID

UNITS (X) "
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